SHELUTIL?

] \— IR

"1 O3BMMDEE,

RO ) \—IRACER 9F D) &EZDaRMEER

IN=RIRAIZ | /—=RIRAIZ
5— =D E R ERE (15

PEssys) g 7
995MLLTF DROEE

PDRDEEN
997538 103D

DAVET

10375318 yaysisk-Nel

GB AiSE. ERBESEROFPICELE/ N —RRAIZHDD
BOTIH. ERBIEBFOMRCBDET,

®o ERBERACKBERIERADERR

S 3 O A 22

T
.

G SWCNS oo

I \—RIRACERBEER - ERERFIZER

Q HFBAB. EHROR—/ =T/ =L TEANT

WET o SEDFERFUPBDRAH T, FAIZURA
FHVEF B, Z22 T/ \—HRAICHT DREFED
BDOTCNDTLEDD,

FE. KOFBROESIEET DEEDRBEERO
BBBRBIERIC DN TR TIEEFKDURA.
FEBSIAL0DE<ISNTT,

A JRRARY DY EBURBSHTEICED &

J, ELCROZERDEHBEEBICIE. FTEkbiE
RBEEDDOFEE o

BEERE. EOWAT103DBUTOEEICE
BRI DN TEFT,

RBRBHHRIE. RODESDZDINAEZERIC K
DTCEDVET, HBEDZEADEEE. EDIRA
TRIUPDATIODT, F£EOD/ \—~DFIRI0OMIA
PR EBEOMZERDE. ERREEIRIBOMCERS
BRPERI13DMOESHDBAER TE2DND

/3~ DEIR EBR BBEE| & =
70PMm7% | 389M | 38BM | /650
70BALE 75 3 33 71
7% 4 80 38 28 66
80 »~ 8 38 23 61
8 »~ 90 3 18 56
g » @ & 3 13 51
9% »~ 100 ¥ 38 8 46
m 2 18 v 3 3 Y
103551 38 — 38
103Pm@ 106PMks | — 38 38
1065m 10 » - 36 36
M0 & M5 ¥ = 31 31
M5 » 120 » = 2% 26
03 b1 b —~ 21 21
1% 4 130 ¥ = 16 16
130 4. 1% ¥ — 1. 11
135 2 140 & —~, 6 6
40 W W - 3 3
% W — — —

GE1 . ERROBSE. TNENRBOETEFRTEEFT,
2. ERBERCE. ROTBHREDDFE o

BEPSE - REEORANEDDZTY
RREMBEN (FER - SR - 5118 - LIS
DINTOMBBETHSENERSD, "KSK (@i
BEEROBIN o SL\OFHLWVWIIEQA—IY—IRTLH
BASNET, SN\ BEEOMIBREH, T
£ 21— —IBORRICEDD FTOTTHE<EE,
BE. FHL<EHTEIBER (U7 ABENG
DE<EE,

k=

OB BHRERERBS
B8 12910800 481 6305~ 465
BT HEWEW2K B - HO2WE

OFERBEFHRBS

Bl 1152/8W

B

F& 1 [0~ 46
NBhShEIM SN\ EY—

Om=zNSEE 118118~178

153

2 B B O % B 48 Bt K29 — B
NERBIHES | 1182380 182386)
(E%&DV) FB9:00~ FB9:00~
2%%%&) S83:00 | F43:00(EHAESED)
. ME2EN NBNBE~258
T2 030~ FE10: 00~
2Hr—lk Fi4:00 F1£8:00
e 1E298(4) MB7BR~3086)
PUESLIR a0~ 2EA10:00~
YI=3=k~ F4:00 F%8:00

12R 1 BR)E. BEEEHE 445 - ERERARVEESBIOMB T,






